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01 A|AH| 1,653,807 1,703,984 A50,177
Ot B WA 2l 7|
234 180,822,910¢ - 7|4 231,000,000¢ = AN50,177
03 A|EECHY| 2,260 4,260 A2,000
OA|EE0H| 44 2,260,000¥ - 7|4 4,260,000 = A2,000
2|H9o| Res2| (M) 4,900,289 4,908,516 N8,227
=2 3 EE4H| 4,894,789 4,903,016 NB,227
401 A|AH|LECHY| 4,894,789 4,903,016 NB,227
03 A|EECHY| 4,000 12,227 N8,227
OA| A ETHH| 4,000,000 - 7|14 12,227,000 = N8,227




[SRATAIRA ]

o7E Ao @ROHRE: ]
O HAQY : AT 014 I MBS BZ(AHE) @TIRIAY : 2| F4BF 2

(H2) @MPAR ZeALHEHH €21 (9 MY
NFEEEET
TE EHFE2 . FHYAY , THAAY HMEAY, S . MS| o &4 o1|7lxr%jou 4
b o
R0l At 5,298,434| 5,657,634 359,200
213 (6)/ 45t E 22 5,298,434 5,657,634 359,200
2D op4 QlE AHsHsS SS(RIE) 5,283,434 5,642,634 £359,200
220 3487 2H(HE) 1,091,784| 1,291,784| £200,000
FHAL 2 Y 1,091,784| 1,291,784| A200,000
401 AlgB|RChy 1,091,784 1,291,784| 200,000
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D2t M2EAt
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